BINLARRABA A ZREEEL I ABSES «

Al B RBLHE Rpmag: o H A2

1.(20%) Find the value of b for which the following equation

(zy® + bay)dz + (z + y)zidy =0

is exact, and then solve it using that value of b.

2.(20%) By the method of variation of parameters show that the

solution of the initial valye problem

V' 42 + 2y = f(2); ¥(0)=0, () =0

t
isy= /0 e ") f(r) sin(t ~ 7)dr.
3.(20%) Find a particular solution of

V'~ 3y — 4y = 3¢ + 2int — 8et cos 2t.

4.(20%) Find the general solution of the system

d.’)’,'l

7 = -2z + Ty + 2€_t,
dz
Eig = I — 2z, + 3.

5.(20%) Find the solution of the differential equation

20" +y' + 2 =g(t), y(0)=o0, ¥'(0) =0,

where

1, 5<t<20,
g(t):us(t)—uzo(t)={0, 0<t<5andt>20.
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